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QUESTION 1

Which of the following prefix lists include prefixes 192.168.128.0/17 and 192.168.64.0/187?
A. Prefix list 192.168.0.0/16 through 18.

B. Prefix 192.168.0.0/17 longer.

C. Prefix list 192.168.0.0/17 through 18.

D. Prefix 192.160.0.0/13 longer.

Correct Answer: A

QUESTION 2

What command could be used to verify proper configuration of a static route in an Nokia 7750 SR router?
A. Show route-table

B. Show router routing-table

C. Show router route-table

D. Show static

Correct Answer: C

QUESTION 3

Which of the following is NOT a BGP message type?
A. Route-Refresh

B. OpenSent

C. Natification

D. Update

E. Keepalive

Correct Answer: B

QUESTION 4
Which LSA type is not found in point-to-point only OSPF networks?

A. Type 1 Router LSA
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B. Type 2 Network LS A
C. Type 3 Summary LSA
D. Type 5 External LSA

Correct Answer: B

QUESTION 5

Which of the following about SAPs is FALSE?

A. A SAP can be associated with more than one service.

B. A SAP is the subscriber\\'s point of entry to the service network.

C. A SAP is created by specifying a physical port and an encapsulation type.
D. A SAP can only be created on a port configured as "access".

Correct Answer: A
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